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The air has become very dirty in__ (1) __ parts of the world

.This is of course __ (2) __ to your health. Experts say many

people die __ (3) __ it each year .There is a new study on __

(4) __ pollution which comes from the experts of the WHO __

(5) __ an agency of the United Nations.

Q1. (a) many (b) much (c) every (d) any

Q2. (a) harmful (b) wasteful (c) useful (d) helpful

Q3. (a) through (b) by (c) from (d) with
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The air has become very dirty in__ (1) __ parts of the world

.This is of course __ (2) __ to your health. Experts say many

people die __ (3) __ it each year .There is a new study on __

(4) __ pollution which comes from the experts of the WHO __

(5) __ an agency of the United Nations.

Q4. (a) land (b) noise (c) air (d) water

Q5. (a) who (b) what (c) which (d) whom
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If you __ (6) __ unhealthy air for long periods of time , you

could __ (7) __ sick . Air pollution has been linked to many

diseases __ (8) __ stroke and cancer . The WHO says that

seven million __ (9) __ die each year as a result of the __ (10)

__ air.

Q6. (a) draw (b) gulp (c) inhale (d) grasp

Q7. (a) became (b) becoming (c) becomes (d) become

Q8. (a) similar (b) like (c) such (d) same
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If you __ (6) __ unhealthy air for long periods of time , you

could __ (7) __ sick . Air pollution has been linked to many

diseases __ (8) __ stroke and cancer . The WHO says that

seven million __ (9) __ die each year as a result of the __ (10)

__ air.

Q9. (a) human (b) person (c) individual (d) people

Q10. (a) polluted (b) grimy (c) muddy (d) grubby
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Q1. Identify the segment in the sentence which contains
the grammatical error.

This happened (a) / just exactly (b) / five years (c) /
ago.(d) / no error (e)
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Q2. Identify the segment in the sentence which contains
the grammatical error.

Both Ravi as well as (a) / Rohan (b) / are unable (c) /
to achieve their goals .(d) / no error (e)
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Q3. Identify the segment in the sentence which contains
the grammatical error.

They have (a) / given alms (b) / to the (c) / poors
today .(d) / no error (e)
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Q4. Identify the segment in the sentence which contains
the grammatical error.

The earth’s (a) / atmosphere b) / comprise of (c) /
numerous gases .(d) / no error (e)
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Q5. Identify the segment in the sentence which contains
the grammatical error.

He (a) / takes pain (b) / over his (c) / work .(d) / no
error (e)
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Q1. Select the most appropriate synonym of the given word.
VANQUISH
1. succumb
2. conquer
3. faint
4. fails
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Q2. Select the most appropriate synonym of the given word.
WANE
1. diminish
2. increase
3. Add up
4. grow
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Q3. Select the most appropriate synonym of the given word.
WRACK
1. ruin
2. repair
3. mend
4. fix
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Q4. Select the most appropriate antonym of the given word.
REBELLION
1. obedience
2. defiance
3. disobedience
4. insubordination
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Q5. Select the most appropriate antonym of the given word.
PORTEND
1. presage
2. augur
3. foretell
4. contradict
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Q1. Select the INCORRECTLY spelt word.
1. patrenage
2. paucity
3. pertinent
4. Perseverance
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Q2. Select the INCORRECTLY spelt word.
1. Refurbish
2. Regressive
3. Reppercussion
4. Revenge
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Q3. Select the INCORRECTLY spelt word.
1. Triumphlism
2. Truce
3. Wrack
4. Wretch
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Q4. Select the INCORRECTLY spelt word.
1. Sobber
2. Stammer
3. Stredent
4. Strike
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Q5. Select the INCORRECTLY spelt word.
1. Exagerated
2. Exhale
3. Exacerbate
4. Expands
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Q.1

Call in the next candidate .

a) Call the next candidate .

b) Let Call the next candidate be call.

c) Let Call the next candidate called.

d) Let Call the next candidate be called in .
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Q.2

He increased his speed as the sunset approached .

a) His speed is increased by him as the sunset approached.

b) His speed was increased by him as the sunset 

approached.

c) His speed has increased by him as the sunset 

approached.

d) His speed has been increased by him as the sunset 

approached.
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Q.3

The committee is considering action on the bill .

a) Action on the bill is considered by the committee .

b) Action on the bill is being considered by the committee.

c) Action on the bill was considered by the committee.

d) Action on the bill was being considered by the committee.
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Q.4

Scientists successfully conducted a water detection test on 

Mars.

a) A water detection test on Mars conducted successfully .

b) A water detection test on Mars is conducted successfully .

c) A water detection test on Mars was conducted 

successfully by scientists .

d) A water detection test on Mars has been conducted 

successfully .



34

Q.5

What was she doing in the house ?

a) What was being done by her in the house ?

b) What is being done by her in the house ?

c) What was done by her in the house ?

d) What is done by her in the house ?


